高二英语阅读训练（2）

A

  As an important part of their anti－smoking movement (禁烟运动) activitists(积极分子) have been struggling to have the warning “Smoking is harmful to health” printed on all Chinamade packs of cigarettes．

  Although words of caution (警告) do appear on many packs, smokers seem to turn a blind eye to them． A recent survey (调查) shows that 90 percent of Chinese smokers pick up the bad habit before they are 20 years old． The percentage (百分比) of young male smokers has reached 50％ over the past few years．

  China has become the largest tobacco producing and consuming country in the world． Its 350 million smokers consume 150 billion cigarettes every year, accounting for 30 percent of the world's total． To control smoking, measures must be taken on two fronts: smokers and tobacco industry．

  Last year (1994), China's tobacco industry brought revenues(国税) of 55 billion yuan (＄6．6 billion) accounting for 10 percent of the country's total．

  Some regions and provinces have set tobacco as their pillar (支柱) industry．

It is becoming clear that a movement to stop smoking can not be won unless it is taken part in and supported by the government and the whole society．

1． About how many cigarettes do the other countries consume every year﹖

   A．350 billion．     B．450 billion．    C．500 billion．     D．550 billion．

3． The underlined part in Paragraph 2 means “＿＿＿＿” in Chinese．

   A．没有看见     B．对……视而不见     C．失明了     D．对……盲目相信

3． According to the passage which of the following is TRUE﹖

   A．Only 5％ of Chinese smokers pick up the bad habit after they are 20 years old．

   B．Few of the teenagers pick up the bad habit of smoking．

   C．There are more smokers in China than in any of the other countries．

   D．To control smoking, it will work very much to take measures only on smokers．

4． The writer thinks that ＿＿＿＿．

   A．it is necessary for the government to develop the tobacco industry． 

   B．it is foolish of China to stop producing cigarettes．

   C．it is hard to win the anti-smoking movement．

   D．it is no use advising smokers to stop smoking．

B

  In general, people who smoke cigarettes weigh less than those who do not smoke． Some experts say it is because nicotine in cigarettes helps make the body burn food energy more quickly． They point out that people who stop smoking generally return to the weight of people who never smoked．

  In the new report government researchers examined two health studies done in the early 1970s and 1980s． The nationwide studies involved (涉及) 9,000 people.

The researchers found that in general people who stop smoking gain 2－3 kilograms in the next 5 years． Also about one in ten people who stop smoking will gain 13 kilograms more．

  The study found that blacks are much more likely than whites to gain weight after they stop smoking． Also people who stop smoking continue to gain weight at a faster rate than smokers for at least seven years after they stop．

  In a separate report, the New England Journal of Medicine said the likelihood (可能性) of weight gain is not a good reason to continue smoking． It said cigarette smoking has been linked to lung cancer, heart trouble and other health problems． Studies have shown that cigarette smoking kills 400,000 Americans a year． Scientists said these health dangers are far greater than the problems caused by a few extra kilograms of weight．

5． In general people who smoke cigarettes weigh less than people who do not smoke because＿＿＿．

   A．they eat less than people who don't smoke

   B．they eat more than people who don't smoke

   C．sometimes smoking can take the place of food

   D．nicotine in cigarettes helps make the body burn food energy more quickly 

6． Usually after you stop smoking you ＿＿＿＿＿．

   A．want to eat more sweet food      B．gain some weight

   C．become thinner and thinner       D．want to take more exercise

7． We may infer from the passage that ＿＿＿＿．

   A．the writer is telling people to lose weight by smoking

   B．the writer advises people to smoke less if they want to keep healthy

   C．the writer warns people against smoking if they want to keep healthy

   D．the writer must be a very kind smoker

C

  The cigarette industry began in the 1870s with the development of the cigarette manufacturing (加工) machine． Today cigarette smoking is a widespread habit,

though it has been proved to be bad for health．

  In Britain, the government has launched a movement against smoking.

Advertisements list the number of people who die every year from cancer and other lung diseases because they smoke cigarettes． But the public does not take enough notice． The habit of smoking is very strong． When the government announces the results of medical studies on cigarette smoking, for a short time, smokers are worried． They buy fewer cigarettes for two or three months． But six months later sales are up again．

  In 1971, the British government made a law about cigarettes． Every packet of cigarettes must have a health warning on it． The warning says, “Smoking can damage your health．” Every advertisement for cigarettes in magazines and newspapers must also say this． Television and radio stations can't advertise cigarettes． On British trains there used to be only a few carriages marked “No Smoking．” But people smoke cigarettes where and when they can． Aren't they worried about their health﹖ Do they enjoy smoking so much that they don't care 

if they are ill﹖

8． Which is the best title for the article﹖

   A．Cigarette Smoking and Your Health      B．Smoking —— A Bad Habit

   C．No Smoking on the Train              D．The Result of Cigarette Smoking

9． Which of the following goes against the idea of the passage﹖

   A．The government has warned the smokers not to smoke cigarettes．

   B．Many people who had got into the habit of smoking die from cancer．

   C．A great number of smokers died or may die from lung diseases．

   D．Smoking has been proved to be no harm to people．

10． According to the law of Britain, there must be health warning ＿＿＿＿＿．

   A．over TV                       B．on trains or buses 

   C．in newspapers or magazines       D．on packets of cigarettes

11． Now, in Britain ＿＿＿＿．

   A．you can never find people smoking

   B．there are still many people who are smoking

   C．you can't find a place where people are smoking

   D．people don't enjoy smoking any more

D

  Many countries in the world insure(确保) non-smokers'right to smoke-free air and to help smokers give up．

  On July 1, 1975, it became a crime(犯罪) in Norway to offer a cigarette to a child under 16． The new law, which today many countries are watching, also places a total ban on all tobacco advertising(广告) including tobacco shop window displays, fieldworkers throughout the country are conducting (进行) educational and anti-smoking activities．

  In the United States, airlines are subject(忍受) to a fine(罚金) of ＄1,000 for failing to provide a smoke free seat for any passenger who wants one． The interstate commerce commission (州际商委会) has made “no smoking”a rule on all INTERSTATE passenger trains and buses．

  A growing number of restaurants now offer separate areas for nonsmokers． A ban on television and radio cigarette ads, health warnings, and restrictions on smoking in public places in many states and cities make the United States one of the members who take part in non-smoking and anti-smoking efforts across the globe． The number of U.S．non-smokers is rising as well．

12． From July 1, 1975 on, ＿＿＿＿．

   A．in Norway people were allowed to offer cigarettes to children under 16 

   B．in Norway it was not allowed to offer a cigaretteto a child under 16 according to the law

   C．it was a crime if a child under 16 had a cigarette

   D．it was not against the law to sell cigarettes to a primary school student

13． The new law in Norway ＿＿＿＿＿．

   A．doesn't allow people to smoke        B．allows people to put tobacco ads on TV

   C．bans any ads for tobacco except window displays

   D．bans any ads for tobacco including window displays

14． Educational and anti-smoking activities ＿＿＿＿ in Norway．

   A．are conducted by peasants          B．are conducted by fieldworkers 

   C．are conducted by the people from all walks of life

   D．are conducted by people working in the field

15． Which of the following statements is TRUE according to the passage﹖

   A．If U．S．airlines could not offer a smoke-free seat for any passenger who wants one,

they would be fined．

   B．If U．S．airlines could offer a smoke-free seat for any passenger who 

    wants one, they would be fined．

   C．If U．S．airlines could not offer a smoke-free seat for any passenger who

    wants one, they couldn't be fined．

   D．U． S．airlines' duty is to offer money to the passenger who wants a

    smoke-free seat．

16． According to the passage, separate areas for nonsmokers are offered by ＿＿＿．

   A．more and more schools             B．government

   C．more and more restaurants         D．heavy smokers

E

  Nonsmokers just don't understand． I don't need to be told smoking is bad for me．I know that．But it's like being in love with a man who's no good． You know you're a fool, but you just can't help it． I don't need to be told I ought to give up smoking． Sometimes I just sit in front of a mirror and watch myself breathing in that poisonous gas． If I were in a concentration camp(集中营) and someone tried to make me do that, I'd want to kill them．

  People don't love themselves deeply enough to cut down their smoking, but they may love someone else madly enough to give it up． I hear that exercise is a healthy way to help me stop smoking．Exercise can't resist(抵制) the damage (损害) being done to my body while I continue to smoke, but it can help me kick the habit． Every time I cough badly, I make up my mind never to smoke again． Anyhow the thought of lung cancer caused by smoking will help me stop smoking forever． 

17． The writer ＿＿＿ that smoking is bad for her health．

   A．knows      B．doesn't know      C．didn't know       D．will know

18． Which of the following statements is TRUE﹖

   A．The writer wants to give up smoking and she will succeed soon．

   B．The writer wants to give up smoking, but she can't resist it．

   C．The writer doesn't want to give up smoking because she knows she will die soon anyway.

   D．The writer doesn't want to give up smoking for she isn't afraid of death．

19． Smokers may cut down their smoking for＿＿＿＿．

   A．their own good    B．someone they love     C．their health     D．their jobs

20． The writer believes that exercise ＿＿＿ smoking．

   A．is good for                   B．can't help stop 

   C．can help her stop              D．is useless for her to stop
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